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2t @ ): UNITED PUBLIC SCHOOL AND COLLEGE, JAMALPUR

N Sharifpur, Jamalpur

Admission Test-2026 oB: Y

Test Booklet: Class-VII

Time: 1 Hour 30 minutes (7¥&: { ¥%81)  Full Marks: 100 (4fI: So0) @S ERIESI oA ON

Subject Full | Mark
Full Name of the Examinee (A9rHIq ",[‘f q): ubjec u arks

Marks|Obtained

Bangla] 25

English| 25
Father’s/Guardian’s Name (f*oi/afeeRtea w):

Mathematics| 25

IQ 15

Guardian’s Mobile No. (Sf®eREE @RIZA F2):

Science| 10

Total Marks| 100

Roll/Admit Card No (G&/2TI=7q T59): Total Marks| 100
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English

Full Marks-25

Section A: Reading Comprehension

Read the following passage and answer the questions:

"Reading is a great habit" means that it helps us become wiser, more informed, and thoughtful. Reading books
improves our vocabulary and helps us express our ideas better. It also helps us understand different people,
cultures, and experiences.

Besides, reading is a good way to relax. It takes us to a different world and gives us joy. Whether it's a
storybook, newspaper, or comic, reading builds our knowledge and makes us smarter.

In short, reading every day is a smart way to grow our mind and become a better person.

1. Write the synonym/similar words of the following words: 5x8=4

Words Synonym/similar words
Habit

Informed
Express
Understand
Relax

Joy
Knowledge
Grow

2. Short Question-
Answer the following short questions 3%x2=6
(a) How does reading help us become wiser?

Answer:

(b) Why reading is considered a way to relax?

Answer:
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(c) What kinds of reading materials can help us grow our mind?

Answer:

Section B: Grammar (10 Marks)

A. ldentify the part of speech of the underlined words 5x4=2
1. Reading is a great habit that improves our life.
Answer:
2. She smiled happily after finishing the story.
Answer:
3. If you read every day, you will become smarter.
Answer:
4. They were quietly reading books in the library.
Answer:
B. Fill in the gaps with the right forms of verbs 4x1=4
1. My sister (read) a novel every week.
Answer:
2. The teacher (explain) the story yesterday.
Answer:
3. We (go) to the library every Friday.
Answer:
4. |If they (practice), they will improve.
Answer:
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C. Fill in the blanks with articles 2x1=2

1. My brother bought interesting book yesterday.
Answer:
2. Thereis owl sitting on the tree.
Answer:
D. Use correct punctuation and capitalization 2x1=2

1. my friend reads a book every night she loves adventure stories

Answer:

2. yesterday we visited the national library in dhaka

Answer:

Section 3: Writing (05 Marks)

Look at the picture below and describe it in 10 sentences: 1x5=5

|
i
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Mathematics (21f5®)

Full Marks-25 (4S9-3¢)

1. Simplify: T T ) gx 332><§+ 3%+ 4% X 42]
Answer (&&9):

2. Mona and Mahim have a total of Tk. 240. If their ratio is 1:3, find the amount of money each one

has. (9 43R TfT-9F GG BT 280 Bl | SIHA TGATS 3:0 2, 2TONT F© O #AI?) 2
Answer (&&9):

0.15 part of the total length of a bamboo is in the mud and 0.65 part is in water. If the length of the
bamboo above water is 4 m., what is the length of the whole bamboo? (0.15 1 Jft7 (16 e b=

TP @R G2 0.65 Tt g Ty qcz 1 3 Aead «ifTa Toimw i 8 B 2w, SR JeiE @5 A
3

3.

)
Answer (&)
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4, 1 have half of a chocolate bar, and 1 give away one-fourth of what I have. What fraction of the
chocolate bar do I have left? (SI=IF 102 A6 SFCG ACHA LT @R, G2 SIfS SN e A &CR
O G5O W I | AN FI(Z SFE0 @ (FI DAL TB <A02?) 2

Answer (&&9):

5. If x = 2 and y = -3, what is the value of 5x% + xy - 3y?? (@M x = X YR y = ~© ¥, ©F 5x> + Xy -
3y? @9 JI9 397) 3

Answer (&)

6. Arik bought 6 pens and 3 notebooks. The price of a pen is x taka and the price of a notebook is y
taka. Express the total cost of Arik in algebraic terms. (@& G T @R off el fBeez 1 @SH
FECHF WA x BT @R G ATSF AN y Bl | ARG (6 476 Arepelifafes meal adm Tl 1) 2

Answer (&&9):
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7. Solve the equation 3x — 8 = x + 2 and verify the correctness of the solution. (FNFReIB T« Fca

GJ2 ANYH B2 FAN:) 3
Answer (&&9):

8. Add and subtract: (% @ REA A1) — 3xy2 — 4x2y + 5x2 from 5x2 — 4x%y + 5xy2. 2
Answer (T€9):

9. Draw an Isosceles triangle and write down it’s properties. (455 Fxfasig faget St R R it &ioa ) 3

Answer (&&9):
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10. Identify ray and line segment from this figure. (6% o@ (Xt A @2 @A *1S FCA1 1) 2

M g H

N

L

Answer (&&9):

1. What color comes next in this pattern? (Fb8 FeeTF (AR 27T T (F0G?)

1Q (N2FT)

Full marks-15 (F€319-5¢)

Red - Orange - Yellow - Green -

Answer (&)

2. Which letter will come next: A, C, F, J, O, 7 (4% %4 413 243S! S (FHH?)

Answer (&&9):

3. Solve: (ST4IS FAT)

Answer (E&9):
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4. If January 1st, 2025 is Wednesday, what day of the week will it be on January 28th, 2025? (3fw 03¢ ite
TR > ©ifFd [T T, O TIHIR b SIfRcY AS A @ = 203?)

Answer (&)

5. fA+A=6,A+0=80+0=9,thenA+o+o0=2(A+tA=v, A+0=b,0+t0=5HA, A+O0+0

Answer (&&9):

6. If CAT =24, and DOG = 26, what is PIG? (3 CAT = 28 @32 DOG = 3¢ 2T, 4 PIG @3 W+ F9?)

Answer (&&9):

7. Which number doesn't belong: 3,5, 7, 9, 11, 13 (RTba S AISTHR g (1D fow1?)

Answer (&&9):

&. Bushra is taller than Minha. Minha is taller than Tanha. Who is the shortest?

(PR FS=IT OTT =771, AR SIRiF 6T =191 | (& ST 2IG1?)

Answer (T&9):

9. Find the odd one out: Cat, Dog, Rabbit, Tiger (Tfow=f oo @7 Tl [, FF, 44T, )

Answer (&)

10. How many minutes are there in 2.5 hours?(2.¢ 95617 T NF0 =CR?)

Answer (8&9):

11. A farmer has 17 sheep. All but 9 run away. How many are left? (9%&= $3¢&4 5af6 cowt @iz | 514 copt #Atfeica
oIty Bl > =St FostE AifF =CR?)

Answer (&&9):

12. Which shape has no corners? (i SFfod @I @it (137?)

Answer (T€9):
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13. Which number is missing: 2, 3, 5, 8, 12, 17, ? (FNt6a 41 I 1227 (7137?)

Answer (&&9):

14. If 3 cats can catch 3 mice in 3 minutes, how many cats are needed to catch 100 mice in 100 minutes? (o6

e © RS off 207 490 #iitd, ©13CE doo TG S00f6 397 yare Folb [Ek weica?)

Answer (&)

15. Which weighs more: 1 kg of feathers or 1 kg of iron? (FRf6 @ S1dt: 5 @fer siete T > @fer ==RI?)

Answer (&&9):
Science-10 (e fReal=-50)
Full Marks-10 (3<S19->0)
1. Answer the “One-word answer” questions 1X6=6

(i) What is the main source of light for plants during photosynthesis? (Sfen&fTa ey FceTFLCaae=
T @Y T F?)

Answer (&&9):

(ii) What is a solution where water acts as the solvent? (TS i GIIF REE IS I, ©F F 4=
79 <1 =7)

Answer (8&9):

(iii) What type of motion is shown by a wheel? (436 5% (1 47T *fo awfq Fca?)

Answer (&)

(iv) What nutrient provides energy and is easily digested? (19 =2 *Ifes awiq Bt @32 72CS T& 237?)

Answer (T&9):

(v) What is the melting point? (1% F?/oE R IS I @RTT?)

Answer (&&9):
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(vi) What are the main components of the nucleus? ( E{FATR a4 Commef JF )

Answer (&&9):

2. Answer the following short questions 1X2=2

A car starts at a velocity of 5 m/s and accelerates to a velocity of 15m/s in 10 seconds. What is
the acceleration? (€3 9Mif 5 fGE/CIFES @0 @ &F FE 10 CUICT 15 NOR/GEFS @ oA
1§19 [l F91)

Answer (&&9):
3. Process Description with Diagram 2
Explain law of reflection of light according this image? (92 fo@ SR @ita Al e Ay
F47?)

Feflected Ray Incident Ray

r—‘ Eeflecting Surface
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